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2A-F3H - S9(3AH) - HRAY - BES Ofl &+24 A Hus2
HEItEERE 1,322,375 1,156,875 165,500
())1"5‘3%’4.‘-’&&94 SIEJIsZsHAESX/ES - IIEL0Y 438,996 273,49 165,500
AR L AX TN 190,456 156,456 34,000
LT - ZE - B4 HE TAM 49,958 49,958 0
101 Q1A H] 44,958 42,228 2,730
04 JIZHZEZXNEES 44,958 42,228 2,730
oOsAIXE =% 1,334 870 464
OsA=EY EX& 2,170 1,899 2
OZEXNE 2E 2,170 1,139 1,081
OUIOIEE2E 1,450 2,320 A870
O&EX AHI 37,834 36,000 1,834
201 £Er2dyl 5,000 5,330 A330
02 &2 H 0 330 A330
O&ZX HIXE & 3l SRS 0 330 2330
301 LEt2 S 0 2,400 22,400
09 A& HIEAS 0 2,400 A2,400
OESZAE MENF 0 2,400 22,400
ALY Y 11,572 5,572 6,000
201 ¢Eer24]| 10,266 4,572 5,694
01 AtR22|H| 9,966 4,272 5,694
(OF=gopl=4 5,500 2,000 3,500
oOXzd M= 2,240 1,120 1,120
O=&& NH 1,050 600 450
O+ 600 300 300
OHAES & 576 252 324
202 O Hl 1,306 1,000 306
01 =LHOIbI 1,306 1,000 306
Oxd & MOt &4 1,306 1,000 306
SPSS SHMIIX AZEHN F& 28,000 0 28,000
201 24| 28,000 0 28,000
01 At22tel 28,000 0 28,000
OSPSs Z=z0d 7Y 28,000 0 28,000
SEIES2H Bt 141,800 10,300 131,500
HESISELEIDIZ 29 57,300 10,300 47,000
201 L Bt2EH| 52,600 5,600 47,000
01 AtR2eldl 52,000 5,000 47,000
OZLHE 2HU=R 5,000 2,000 3,000
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ool HEYEEAEI} CERED

2A -3 -G(3H) - MISAY - BES Ofl &4 JIEA HunszZ
OJEgE=AE ZENM 08 2UHT 7,000 0 7,000
OSLAUT w2t 5,000 0 5,000
OX0t= dH MEUHY 23 T2 10,000 0 10,000
OZHLE =€ 22,000 0 22,000
T JESEEAEIL 84,500 0 84,500
101 124 H| 41,200 0 41,200
M4 II2HZ2Z2NSES 41,200 0 41,200
OJIZAHZ22XH(HEARH)E B 41,200 0 41,200
201 EH2 HHI 42,380 0 42,380
01 Al 42,380 0 42,380
ONFEE JNtHAA ZY 2,544 0 2,544
OALEE A2Us WK 1,350 0 1,350
OREALZIZ DA 743 0 743
oz&Y +g 36,600 0 36,600
ogerZeldl 1,143 0 1,143
202 o4 8l 320 0 320
01 =LA HI 320 0 320
ool 320 0 320
301 YA 600 0 600
CETERE 600 0 600
OZHLHE A&2As Ws 4| 600 0 600
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